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L, = .___I L, =

1 .lO $1 L = ; CJA,  1% contrast 66&I  unbiased estimator 9109  L $0 L =

x I 2 3

hm& 136 t I 60 1 34

k-G-LT-3= 4
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4)  CR:

.’  5) oij ted

[(oij  - e,)*/e,]

14(18.675) 37(39.84) 32(24.485) 83

[1.1703] [0.2024] [2.3065]  ’

19(17.55)

IO.0393 1

12(8.775)

[I.18531

45

ell  =

ez3 =

es2 =

= 18.675

= 23.01

= 18.72

ST 204  (H)

42(37/M) 17(23.01) 78

[0.5554] [1.5698]  ’

17(18.72) lO(11.505) 39

[O. 15801 [0.1969]

96 59 200



fl+J
t-r-d1 2 3

8 7 1 2

1 0 5 9

7 1 0 13

1 4 9 1 2

11 9 1 4

T, 50 40 60 G=150

X. 1 0 8 1 2 i = 10

: :x:=160
i=lj=l

2 1 6 ST 204 (H)



I, , 1’ ,
,

6 lhwla”ml~nolldc

l> Ho: .

2 )  H,:

3 ) a  =  .05

4 )  C R :

6) C,F. =

SST =

SSTr  = (50*  + 40’ + 60’)/5  - C F: = 1540 - C.F. =

SSE =’

1T o t a l

ANOVA

d f . ss. * MS.

,Duncan’s  method (n”l!&l;rTh  hhWldh&d  7)

fhllJ~  R, = r, v= ImUd n, = n, = n3  = n

Oltl~l573 Least Significant Studentized Ranges rp (0 = .O5)

P 2P 2EEEEr+-r+- 3.0823.082

f

.

,

S T  2 0 4  (Ii) 2 1 7



xra Y wJJ”zl>

0 1, 6, 8

’15 12, 10, 14

30 25, 21, 24

45 31, 33, 28

60 44, 39,42

15 48, 51, 44

2 1 8 ST 204 (H)



AN&A

5) %i101fIVl1514  ANOVA  %Urv”O  4)

fl) WWmYH,:f3,=OL.05
1. H,: /31=0

2. H,:

3. (I = .os

4. CR:

5 .

6 .

‘U) MWfBlJ  Ho : There is no lack of fit d (I  = .05

1. Ho: There is no lack of fit

2. H,:

3. (I = .O!

4. CR: .

5 .

6.

ST 204 (H)

i

.

2 1 9



ANOVA

S.V. df. ss.

qfJ  218.2

da-J

Error 71.39

Total 478.23

MS. f

f, = 6.11

fz = 8.3

6 ~uue~*~swmnouall¶J~g,u  &I

1) H,:

2)  H, :

3) a = .05

4) CR :

5)

6)

2 2 0 ST 204 (HI



hLLYpI  : Y, = /ii + y(xii  - j;) + E,

= /A  + a, + y(x,  - ,)  + EU

i = 1, . . . . 3 LLRZ  j = 1, . . . . 5

ANOCOV

S.V.  df. ss. ml:  SP. df. Y adj. forX f

X Y XY (adj.) adj. SS. adj. MS.

Treatments 1603.33 582.4 -956.0 21.49 .4315

Error 661.2 -326.8 541.19 49.80

Total 2491.13 1249.6 590.77
\
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1. 1.1 E(b)  = 0

E(P) = E(X/n) = i E(X) = i (np) = p

1.2 Chi-square distribution 42  df. = n

1.3 F-distribution & df. = (1, v)

1.4 F-distribution fi! df. = (n, - l), (n,  - 1)

2. 2 . i 6 ~~uoan75wnnallaulr~g7Uiio

1) H.:XwGeometric(i)

# 2) H, : X ~xidnlsuwuw  t&J Geometric

3) a = .05

4) CR : X1  > X;,,,,  = 11.97

5)1x 1 1 2 3 4 5 6 7 8 j53UI

p, = Pr[X = x]

et = npi

Oi

l/2 l/4 l/8 l/16  l/32  l/64 l/l28  l/256  1

128 64 32 1 6 8 256

136 -60 34 1 2 9 1 3 1 256

I --I I5

ST 204 (Ii) 2 2 3



- - -x:  = (136 128)l + (60 64)' + . . . + (7 5)2
128 64 S

zz .5  + .25 + .125 + 1 + .!25 + .5714

= 2.5714

4) CR : X2 > d,,,,  = 9.488, df. = (3 - I)(3  - 1) = 4

5) ell  = 83(45)/200 = 18.675

ez3 = 78(59)/200 = 23.01

ea2  = 39(96)/200 = 18.72

n'luaJB1"3s~~~%~"lwnl~w~arauffox:  = 1.1703 + . . . + 0.1969

= 7.3839

3. 1) H,: p, = ~2 = p3

2) H, : il mean &NliQfJ  1 FjId1Yilfh

3) a = .os

4) CR : F > fO,,z),.os  = 3.89

5) C.F. = (150)2/15  = 1500

SST = 1600 - 1500 = 100

SStr  = 1540 - 1500 = 40

SSE = SST - SStr  = 100 - 40 = 60

2 2 4 ST 204  (H)



ANOVA

S.V. *

Treatments

Error

Total

df.

2

1 2

ss. MS., f

40 20 f, = 4

60 5

Duncan’s method n = 5, MSE = 5, R, = r,

1) x, ?i, ?L

8 1 0 1 2

2) %, - ii, = 12 - 8 = 4 > R, = 3.225

ji,  - j;, =  2  <R,  =  3.08i

x, - X, = 2 < R, = 3.082

4. 1) $ = 5.8261 + .5676x

2) x = 50, $ = 5.8261 + .5676 (50) = 32.2061

3) CR : (TI  > t16>.,,x  = 2.12

tfld t. = -0.1617 > -2.12 15l~u’I&ltli  Ho  i&i0  ;7  100 f%J  &WI@ 0°C

nl~lnijo"lu~w  0 "hx=ww~~~~

ST 204  (I-I) 2 2 5



ANOVA

5 )  R) 1 .  Ha: /31-O

2. H,: /3l#O

3. (I = .05

4. CR: F > f (1,16),.05 - - 4.49

U)  1 .  Ho: There is no lack of fit

2. H,  : There is a lack of fit

3. a = .05

4. CR : F > f<4,,zj.,05  = 3.26

5. f, = f, = 1.5874

6. f, < 3.26 I?l!oiI@tili H, ; a  =  .05

Vi)  bh%d%l”yJ~S  model

2 2 6 ST 204  (H)



5. 5.1

ANOVA

0 &w”l~n~nounu¶J~~lu

1) H,: /3,  = /3,  = . . . = fia = 0

2)H1:~/3~Qth9~OU1’%+0,j=1,...,4

3) a = .05

4) CR : F > f(,,,,.,,,  = 4.76

5) f, = fI = 6.61

6)  f. >4.76  d$i~ Hi  d

nwl

5.2

I

Treatme,nts

t

Error

Total

6 204 (t-l)

ANOCOV

2 2 7
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